




 


                

                

                



 

 
0 = Range 1 ( 0.166V 
1 = Range 2 ( 0.124V 

 



 



          
 



 

Table 6 6. Linearization DAC—Data Format Example
(Range 1: 0.166V  





 

  0.166 V
  0.12548 V
  0.08365 V
  0.04183 V
  0.00131 V
  

  

  

  

  

  

  





Given: (Range 1: 0.166V 
  = 0.082

  

 


